1888 .. ... add SD,SD,—32 struct dice {

1884 w020 su zero,12(sp) S int r;

1888 w65 SW ZEI”D,]_E(SD) ) int idx;

1812 w5622 SW zero,20(sp) int datal31;
3

1016 weixs SW zero, 24(sp)
1828 w02 SW zero, 28(sp)
1024 o 11 a5, H

1828 w22 sw ab,12(sp)
1832 ooz lw a5,16(sp)
1836 w2 lw ad,12(sp)
18048 .+ sll a5,a5,?2
1844 ..., add a5, a5, 32
1848 ..o @add a5, a5, sp
1852 ... sw ad,-12(a5h)

. int mainCvoid) {

struct dice rolls = {8};

do {

rolls.r = [

rolls.datalrolls.idx] = rolls.

rolls.idx++;

1856 B1,01,27,83 lw ab, if (rolls.idx == 3) {
1860 .1 6s add _ , rolls.idx = @;
1864 w2 sw a5, }

1868 .ioime lw ad, } while(rolls.r != B);

1872 wwme L1 I
1876 w1060 DNE @, __
1886 oo,e1,28,23 oW ZB

1884 w0 lw ad,12(sp)
1888 wews 11 25,6

1892 . +~.... bne a4, a5, 1824
1896 wewew 11 a5,0

1188 woeso mv aB, as
1184 .60 @add sp,sp, 32
1188 woww ret

1112 w00.00.00

1116 w00.00.00

1128 1w 00.00.00

1124 1w 00.00.00

1128 w.00.00.00

1132 w.00.00.00

1136 000000

1148 . 00.00.00

1144 5 600000

1148w .00.00.00

1152 w.00.00.00

1156 e 00.00.00

1168 000000

1164 600000

1168 000000

1172 w00.00.00

1176 oo.0.00.00 PROJEKT: INITI1

return @;
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